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1.Who is responsible for a powerful design environment to build visually compelling reports without 

compromising productivity? 

Please choose the correct answer. 

Response: 

A. SAP Crystal Reports 

B. Work Space 

C. Monitoring workspaces 

D. InfoProviders 

Answer: A 

 

2.What are the key benefits of Key Benefits of Enterprise Data Warehousing? 

There are 2 correct answers to this question. 

Response: 

A. Rigidness 

B. Integration 

C. Blockage of info 

D. Reusability 

Answer: B,D 

 

3.What all are the elements of LSA? 

There are 3 correct answers to this question. 

Response: 

A. Virtualization Layer only on top of Architected Data Mart and only UNION (MultiProvider) 

B. Result of transformations stored in additional persistent Layer, i.e. Architected Data Mart 

C. Reading from a DSO is faster 

D. Calculations and aggregations are faster 

E. No reporting on Propagator 

Answer: A,B,E 

 

4.How you can see where the first data row begins, and how many headers there are? 

Please choose the correct answer. 

Response: 

A. Display Data 

B. Core Data 

C. DB Data 

D. Meta Data 

Answer: A 

 

5.How can you transport the Composite Provider from transaction RSLIMOBW? 

What are the prerequisites? 

There are 2 correct answers to this question. 

Response: 

A. Modelling data 

B. The Composite Provider does not contain an analytic index. 
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C. The Info Providers that make up the Composite Provider are already available in the production 

system 

D. Analytical tools 

Answer: B,C 

 


